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Instructions : (1) Write answer of both sections in main answer

sheet.
(1) Figures to the rightside indicate the marks.

SECTION-I

1 Multiple Choice Questions : 20

ey

)

Generally, the policy period of General Insurance Company
is i

(A) For one year

(B) For two years

(C) For three years

(D) For five years

Is it mandatory to maintain “Additional Reserve” for General
Insurance company ?

(A) Yes

B) No

(C) (A and (B)

(D) None of these
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For a company, giving re-insurance, the re-insurance premium
18

(A) Decrease in income

(B) Increase in income

(C) (A and (B)

(D) Having no effect

In miscellaneous insurance business, maximum commission

can be given to the agents is

A 15%
B) 20%
) 10%
D) 5%

How no claim bonus is being given ?

(A) By reduction in premium in second year

(B) By cash in second year

(C) By adding in claims in second year

(D) None of these

Which of the following detail does not include in the hire
purchase agreement ?

(A) Rate of interest

(B) Methods for depreciation

(C) Amount of instalments

(D) Number of instalments

According to hire purchase agreement Rs. 50,000 is down
payment and Rs. 1,80,000 is the total amount of three equal
amount instalments inclusive of Rs. 30,000 total interest.
How much would be the cash price of the assets ?

(A) Rs. 1,50,000

(B) Rs. 2,00,000

(C) Rs. 2,30,000

D) Rs. 2,60,000

Under hire purchase system, the amount of interest is
charged to account.

(A) Asset

(B) Profit and Loss

(C) Purchaser

(D) None of these
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©) When there is continuous decreasing in profit every year
then which profit is taken into account for calculating
goodwill ?
(A) Simple average profit
(B) Weighted average profit
(C) Super profit
(D) Capitalized profit
(10) Which of the following institutions will have goodwill ?
(A) A public library
(B) Arts and Commerce College
(C) Dr. Aacharya’s private nursing home
(D) None of these
(11) When risk is more in business then goodwill is

(A) Normal
(B) More
(C) Less
(D) Zero

(12) Market price of a equity share is Rs. 250 and the rate of
dividend is 40%. If equity share of Rs. 100 is fully paid, what
will be the rate of expected return ?

A 10%
B) 12%
€) 16%
D) 6.25%

(13) Out of the following, which company’s share is not quoted in
stock market ?

(A) Foreign Company
(B) Public Sector Company
(C) Holding Company
(D) Private Company
(14) The assets should be valued at their values
(A) Original

(B) Book
(C) Cost
(D) Realizable
(15) Inventory management means management.

(A) Human resource

(B) Expert financial

(C) Expert administrative
(D) Personnel
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(16) The re-order point, normally based upon

(A) The maximum usage of the commodity during maximum
time for deliveries

(B) The cost of placing an order
€) (A and (B)
(D) None of these

(17) Cash is the most asset of the unit.
(A) Risky
B) Liquid

(C) Non-hqud
(D) Unuseful

(18) There are how many types of cash forecasting based on the
time period ?

A) Two
(B) Three
(C) Four
(D) Five

(19) Due to which credit policy, there is increase in total sales and
consequent by in the profit also ?

(A) Liberal credit policy
(B) Strict credit policy
(C) Cash credit policy
(D) None of these

(20) Which of the following detail taken into account while
calculating Capital Employed for valuation of goodwill ?

(A) Workmen’s compensation fund
(B) Preliminary expenses

(C) Worker's profit sharing fund
(D) None of these
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SECTION-II

Prepare the Revenue Account for the year ended on 15
31-3-2015 from the following informations of General
Insurance Company Ltd.
Particulars Outstanding | Outstanding
as on 31-3-'14 |as on 31-3-'15
Rs. Rs.
Reserve for unexpired risk 2,00,000
Additional reserve 40,000
QOutstanding claims 16,000 20,000
QOutstanding re-insurance claims ceded 4,000 4,800
QOutstanding sundry expenses 3,200 4,000
QOutstanding commission on direct business 8,000 6,000
Transactions during the year : Rs.
Premium Received ........coooeiiimiiiiiiiiaeaannn.. 4,80,000
Ceded reinsurance premium ...................... 1,00,000
Claims paid ... 2,80,000
Claims on reinsurance ceded ............cooee.... 28,000
Depreciation  .........ooooiiiiiii e, 4,000
Commission on direct business..................... 72,000
Commission on reinsurance ceded ............... 14,000
Dividend and Interest..........ccoovveeeeeeeeneeeeen.n. 40,000
Tax on Dividend and Interest........................ 8,000
Sundry expenses (including Rs. 1,800
legal charges for claims) ............................ 20,000
Profit on sale of investments......cc..cccceeuuueee.n. 5,000
Reserve for unexpired risk should be maintained at 50% of
net premium. Keep additional reserve similar to previous
year’s amount.
OR
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2  New India Insurance Company Ltd. provides the following 15
details of Fire and Marine department on 31-3-2015.

Particulars Fire Rs. Marine Rs.
Claims paid 2,00,000 3,00,000
Liabilities for outstanding claims :

Date : 31-3-2014 20,000 30,000

Date : 31-3-2015 30,000 40,000
Reinsurance recovery 10,000 5,000
Fire Extinguish expense 5,000 -
Premium received 5,00,000 8,00,000
Remsurance premium 20,000 40,000
Commission on reinsurance ceded 30,000 50,000
Commission on reinsurance accepted 20,000 40,000
Commission on direct business 1,00,000 2,00,000
Dividend and interest (Net) 25,000 30,000
Profit on sale of investments 15,000 20,000
Reserve for unexpired risk (31-3-2014) 2,00,000 6,00,000
Additional risk (31-3-2014) 50,000 1,00,000
Sundry expenses 36,000 28,000

Additional reserve is to be increased by 10% on premium less

reinsurance for both department. Prepare Revenue Account

for both department keeping reserve for unexpected risk

according to rules.

3 The Balance Sheet of Krupal Ltd. as on 31-3-2015 is as 15

follows :
Liabilities Rs.| Assets Rs.
10% Pref. share capital Land and Building 18,00,000
(50000 shares of Machineries 12,00,000
Rs. 10 each) 5,00,000| Current Assets 9,50,000
Equity share capital Preliminary expense 50,000
(200000 equity
shares Rs. 10 each) 20,00,000
General Reserve 4,00,000
P&L Account 4,00,000
Creditors 3,00,000
Provident Fund 2,00,000
Worker’s saving fund 2,00,000
40,00,000 40,00,000
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Additional Information :

(1) The present market value of the Land and Building;
Machineries and current assets 1s Rs. 20,00,000;
Rs. 8,00,000 and Rs. 9,00,000 respectively.

(2) Companies doing similar business and paying 16%
dividend, market price of its equity share is double than
its paid up amount.

(3) The profit before 50% tax provision for last four years
and appropriate weights to be used are as under :

Year Profit Rs. Weight
2011-12 4,00,000 1
2012-13 4,50,000 2
2013-14 5,00,000 3
2014-15 6,50,000 4

From the above information, calculate value of goodwill
on the basis of four year’s purchase of super profit.

OR

The following is the balance sheet of Dhaval Ltd. as on 15
31-3-'15 :
Liabilities Rs.| Assets Rs.
10% preference share Goodwill 18,300
(30,000 share of Building 4,10,000
Rs. 10 each) 3,00,000|] — Depreciation 20,000 3,90,000
Equity share Machinery 3,80,000
(30,000 share of — Depreciation 20,000 3,60,000
Rs. 10 each) 3,00,000| Furniture 19,200
General Reserve 90,0001 - Depreciation  1.200 18,000
Profit and Loss Alc. 25,500 P.F. Investment 30,000
15% Debenturs 1,20,000| 12% Debentures of
Creditors 15,000 Paraliya Ltd.
Bills Payable 7,500 (Face value Rs. 36,000) 34,200
O/S expenses 12,000] Stock 24,000
Providend Fund 30,000] Debtors 18,000

— B.D.Reserve 1.200 16,800

Cash and Bank 8,700

9,00,000 9,00,000
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Additional Information :

(1) The present market value of Building is Rs. 4,27,200

(2) The average annual profit of the company is Rs. 1,68,000
(Before deducting tax of 50%)

(3) The expected rate of return on capital employed in this type
of business is to be 10%

(4) The value of goodwill of the company has been ascertained
at Rs. 45,600

From the above particulars ascertain the fair value of equity share
of the company.

4  On 1-1-'11; Krishna purchased a machine from Vasudev 10
on hire purchase system. Payment were made as under :

Particulars Amount

Rs.
(1) On agreement (Dt. 1-1-'11) 10,000
(2) First instalment (Dt. 31-12-'11) 20,000
3) Second instalment (Dt. 31-12-'12) 10,000
(4) Third instalment (Dt. 31-12-'13) 10,000

Cash price of the machine is Rs. 43,000. Depreciation
is to be charge at 10% p.a. by diminishing balance method.

Prepare Machine A/c and Vasudev A/c in the books of
Krishna.

OR

4  Two components A and B are used in a factory. 10
The details are as under :
Minimum usage 2000 units per week each
Normal usage 4000 units per week each

Maximum usage 6000 units per week each
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Re-order quantity :

A

B

24000 units
40000 units

Re-order period :
A : 4 to 6 weeks
B : 2 to 4 weeks

Calculate for each components :

ey
)
3)
4)

Re-order level
Minimum level
Maximum level
Average stock level

5 Write short notes on : (any two)

(1) A.B.C. method of inventory
(2) Importance of cash management
3) Economic Orderd Quantity
(4) Objectives of Management of receivable
(5) Optimal Cash Balance
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